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<ul>
<li> " RBEE - =RBEI% / x0T - =R
<p>
<math>
<mi>y</mi>
<mo>=</mo>
<msup>
<mi>x</mi>
<mn>3</mn>
</msup>
<mo>-</mo>
<msup>
<mi>x</mi>
<mn>2</mn>
</msup>
<mo>-</mo>
<mn>4</mn>
<mo>&#x2062;<!--INVISIBLE TIMES--></mo>
<mi>x</mi>
<mo>+</mo>

<mn>1</mn>



</math>
</p>
<li>f5# - $580BIEK
<p>
<math>
<mi>y</mi>
<mo>=</mo>
<msup>
<mi>a</mi>
<mi>x</mi>
</msup>
</math>
</p>
<p>
<math>
<mi>y</mi>
<mo>=</mo>
<msup>
<mfenced>
<mfrac>
<mrow>
<mn>1</mn>
</mrow>
<mn>3</mn>
</mfrac>
</mfenced>
<mrow>
<mi>x</mi>
</mrow>
</msup>
</math>
</p>
<p>
<math>
<msup>

<mi>e</mi>



<mrow>
<mi>x</mi>
<mo>+</mo>
<mn>1</mn>
</mrow>
</msup>
</math>
</p>
<li>H - R B % <p>

<math>
<mi>y</mi>
<mo>=</mo>
<msub>
<mi>log</mi>
<mi>a</mi>
</msub>
<mo>&#x2061;<!--FUNCTION APPLICATION--></mo>
<mi>x</mi>
</math>
</p>
<li>HANBDIEK e (A4 ETEH) <p>

<math>
<msub>
<mi>log</mi>
<mi>e</mi>
</msub>
<mo>&#x2061;<!--FUNCTION APPLICATION--></mo>
<mi>x</mi>
</math>

</p>

<li>%7 (T EET)
<p>

<math>



<msub>
<mi>x</mi>
<mi>i</mi>
</msub>
</math>
</p>
<li>F 7 (ETMHRF)

<p>

<math>
<msubsup>
<mi>x</mi>
<mi>i</mi>
<mi>j</mi>
</msubsup>
</math>
</p>
</ul>
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